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The Effects of a Price Ceiling

The dark horizontal tine represents
the government-imposed price ceiting
on rents of €400 per month. This
price ceiling reduces the quartity of
flats suppled to 180,000, point A,
and increases the quantity demanded
t0 220,000, poirt 8. This creates 2
shottage of 40,000 units: 40,000
families who want fats at the legal
rent of €400 but cannat get them.
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Effect of an Excise Tax Levied on
the Sales of Taxi Journeys

s, i the supply curve before the tax.
Mfter the ity requires taxi drivers to pay
2 tax of €2 for every journey they make,
the supply curve shifts up by €2, to the
new supply curve S,. Ths means that the
price drivers receive net of tax is €4,
represented by point. 5 on the old supply
curve S,.. And the price paid by users i
€6, represented by point A on the new
supply curve S, The tax drives a wedge
between the demand price, €6, and the
supply price, €4.
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The table shows the demand price and the supply price
corresponding to each quartity: the price at which that
quantity would be demanded and supplied, respectively.
The city goverment imposes a quota of eight million
Journeys by selling only eight million lcences, represent-
d by the dark verical line. The price paid by consumers
ises to €6 per journey, the demand price of eight milion

Journeys, shown by point A. The supply price of eight
million journeys is only € per journey, shown by

int B. The difference between these two prices is the
quota rent per joumey, the eamings that accrue to the
owner of a licence. The quota rent drives a wedge
between the demand price and the supply price.
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Without governmert intervention the market reaches equilibrium with ten millon journeys taken per year at a fare
of €5 per jouney.
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The Market for Flats in the Absence of Government Controls.
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‘Without government intervention, the market or flats  permonth and 200,00 lats rented.

reaches equiibrium at point £ with a market rent of €500
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Effect of an Excise Tax Levied
on Purchases of Taxi Journeys

D, i the demand curve before the tax.
After the city requies users to pay
the €2 tax per joumey, the demand
curve shifts down by €2 to the new
demand curve D,. Drivers again
receive, net of tax, €4, represented by
t 8, while users again pay a total
price of €5, represented by point A.
The incdence of the tax is exctly the
same as in Figure 4-7; this shows that
who officially pays a tax s irrelevant
‘when answering the question of who,
bears the burden of the tax.
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‘The Revenue from an Excise Tax

The government reverue collcted by
this excise tax is equal to the area of the
shaded rectangle. In this case it is €2
per joumey x 8 millon joumeys = €16
million.
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